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Answer any FIVE Questions MARKS CO RBT

1

a

Construct PDA for
a. L={0n1n | n>=0}

P=({q0,q1,q2}, {0,1},{0,z0},delta, q0,z0,q2} –3marks
b. L={wcwR | w is in (0+1)+}

–3 marks
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b

List the issues in the design of a code generator.

1. Input to the code generator

2. Target program

3. Memory management

4. Instruction selection

5. Register allocation

6. Evaluation order

[4] CO2 L1

2 a

Parse the string using Shift Reduce Parsing and write the viable
prefixes.

E->E+T
E->T
T->T*F
T->F
F->(E)
F->id
w= id*id+id

Stack Input Action

$ id*id+id$ shift

$id *id+id$ Reduce
by F->id

$F *id+id$ Reduce
by T->F

$T *id+id$ shift

$T* id+id$ shift

$T*id +id$ Reduce
by
F->id

$T*F +id$ Reduce
by
T->T*F

$T +id$ shift

$T+ id$ shift

$T+id $ Reduce
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by F->id

$T+F $ Reduce
by T->F

$T+T $ Reduce
by E->T

$E+T $ Reduce
by
E->E+T

$E $ Accept

—-----------5 marks
Viable prefixes: id, F, T, T*, T*id, T*F, T, T+, T+id, T+F, T+T,
E+T, E
—----1Mark



b

Explain Turing Machine and the Halting Problem.

A single tape Turing machine has a single infinite tape, which is divided into cells.

The tape symbols are present in these cells.

A finite control is present, which controls the working of Turing machines based on the
given input.

The Finite control has a Read/write head, which points to a cell in tape.

A Turing machine can move both left and right from one cell to another

.

Turing machine-2 marks

Halting problem-2 marks
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3
a

Construct a Turing Machine to accept
L= {anbncn | n>=1}.

Draw the state diagram, transition table and definition.

—-4 Marks

M=({q0,q1,q2,q3,q4,qf},{a,b,c},{a,b,c,B},delta, q0, B, qf}
—->2 marks
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b

Prove that every language accepted by a multitape TM is acceptable
by some standard TM.
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4 a

Give the Difference between L-attributed and S-attributed.
For the given SDD, give annotated parse tree for the following
expression with dependency graph for L-Attributed

Expression: 4*8

—4 Marks
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—--4 marks

b

List the programming techniques used for TM.

1. Storage in a state
2. Multiple Tracks
3. Subroutines
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5

Parse the grammar and the string using CLR Parsing
S->CC
C->cC|d
w= cdcd
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6

For the given input find
a. DAG/Syntax tree
b. Value number Method
c. Quadruple
d. Triple
e. Indirect triple

Expression: a+b+(a+b)

Dag and Number value—-----4 marks
Quadruple—--2 marks
Triple—--2 marks
Indirect triple —-2 marks

t1=a+b
t2=t1+t1

Quadruple
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